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SN RIRXE D
M FoYE JEHH AW
Sol: ROIOIE DIAA 29 CER-ED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
0l X & b 3,250,394 3,618,035 N 367,641
= 120,997
= 3,129,397
FAS 0IAMH AS 259,551 233,986 25,565
= 20,997
= 238,554
Z00HE DIRA 29 259,551 233,986 25,565
= 20,997
= 238,554
HESILD H2E 0FA &H 135,014 134,267 747
101 @121l 36,138 39,591 N 3,453
04 JI2ZtH 22 XNEE S 36,138 39,591 N 3,453
O8It =<0 36,138
oJ== 60,2403 x2H x 167 20,121
Oxsg=4g 60,240 x2H x76 9,157
[Or=2=1:l 5,000& 2% 167 1,670
[@FnE==3:]! 5,000 *x2H x167 1,670
OIESY 1,920
. B X 40,0003 2 x8& 640
. E=HIH 80,000& x2H «8& 1,280
OY &SIyl 400,000& 2H 13| 800
ou=sg(22=) 200,000& x2Y x23| 800
201 L2 | 44,036 61,676 A 17,640
01 AFR2 22l Yl 37,024 41,824 A 4,800
O det+=gH| 30,824
ORIANT E2EX 2L 6,200
. A3 40,000& *408+ A 1,600
. Ad 23,000& *2008+ A 4,600
O0IJANAE MAl Olij 3,000& x200& x5 3,000
OplaHg oy 5,000,000 5,000
OEgsge=2) 228 2 4,674
. JtECIX 242 ,000& =104 2,420
. 2HZE 198,000& x65 A 1,188
. EE 943 22,000& =34 66
o X 500,000& =24 1,000
oorsdlelE 2 22,000& = 1004 2,200
O&EJIgEXN 7 22,000& =108 220
OEHezgIs 228X #¢ 350,000& 350
Oblx3 MEIIE M2
10,000& * 140 A~ x12& 1,680
Oolaa g2 ¢ 4,000,000 4,000
O0IJA M4 20 2,000,000 2,000
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R ERIECP
2

M xo1 A Al
CHol: BOIGHE oA 29 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OdXel BH=EE T A 4,000,000& %23 8,000
O dEU=S 1,400,000 1,400
O2F A0t =2 ArdQE & AT} A
800,000& 800
Oz &EE 25 22023 HMA 10,000,000 10,000
ozg=+¢ 980
OFE3NE &+
70,0002 %3 %23 420
ORAZHMSIAS BHLY
70,0003 x4H «23| 560
303 Z& = 18,000 17,200 800
01 Z&= 18,000 17,200 800
ORRTE SRH MK A
500,000& *30H 15,000
O2IAXel OtLelXl 2=AA Al&Z 1,200
Oxl2= 300,000& =23l 600
Oos= 200,000& »23| 400
O&d 100, 000& *23| 200
OZ22RA T EE 2H A3 1,000
Ozl 500,000& 500
O%= 300,000 300
O&d 200,000& 200
O+ AQ0Y 2R3 Ad= 200,000& x4 H 800
HAANSUHYE ZHEX 73,357 64,859 8,498
= 20,997
s 52,360
101 Q1A 44,747 38,791 5,956
= 20,997
s 23,750
04 JIZHHNZ2Z 2RSS E+ 44,747 38,791 5,956
©JuFFSESSEN 44,747
OoJles 60,2403 x2H x206 24,819
= 11,664
s 13,155
Osg=+% 60,2403 x2H x98 11,808
= 5,549
s 6,259
O= &l 5,000& x2H 206 2 2,060
=2 968
i 1,092
On &t 5,000 »2H 206 2,060
= 968
s 1,092
O&E=g 2,400
o B Xt 40,0003 x2H 108 800
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SH: MRATHE Y
M FoYE JEHH AW
Sol: ROIOIE DIAA 29 CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 376
2 424
. EHIS 80,000& x2H 108 1,600
= 736
s 864
OFEFItHI 400,000 x2H x23| 1,600
= 736
s 864
201 £Br2d| 28,010 25,468 2,542
01 At 22l 26,600 24,000 2,600
O el 26,600
OWAHESAHH MH 1,200 *18,0000H 21,600
OWASIRES 1,000& *3,0000H 3,000
OWAUJMA QI 2,000,000& 2,000
02 3323l 1,410 1,468 A58
0z32= % HA 1,110
OlALSE RER= 2, 7003 254 x12& 810
ONWALZR LI A3 300,000& 300
O A& EHl =Xl 300
OWAEMEH SX 300,000& 300
202 O4dl 600 600 0
01 = LH 4 1l 600 600 0
O2&2| (o Hl 600,000& 600
S EXNZel & d&8XelH =i 2,637,043 3,042,601 AN 405,558
= 100,000
e 2,537,043
ERSR=IENESEE ¥ol 1,665,894 2,138,004 AN472,110
= 43,000
= 1,622,894
EXNEEANAY 2FEE 497,627 616,866 A 119,239
101 @144 Hl 17,670 19,396 AN1,726
04 JIZHHZ2XEE S 17,670 19,396 N1,726
OSJIgHsSg: B 17,670
OJles 60,2403 x1F »167 10,061
Osg=+2 60,2403 x 1Y 76 4,579
O= &l 5,0003 x 18 «167 835
Oul SH| 5,0003 x 18 167 835
OPIE=Eal=s 960
. BHS X 40,0003 x1H «8& 320
. EHIE 80,000& »1H +8& 640
OFE FItHI 400,000& x 18«13 400
201 LB-2E | 99,550 92,670 6,880




A UAXH D
M ZHE EXN2C ¥ dAHXNZBEHEZEE
& SFEE XNFE2e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 71,070 74,190 A 3,120
O el 71,070
OZ22H &4 E&X 175,000 10 A 1,750
OCEZ=2H 23 450,000 x4 F +23] 3,600
OXHEBANAH(GIS) 82 B
220,000 3017 4,620
OE2H dlE 850,000& *43| 3,400
OZ22H JtELX 175,000 43 700
OFSHAMFIIE LHSAMNG XSS 57,000
. Ol8e =23 NHFU(2Es)
10,000, 000& «4JH 2~ 40,000
. 23RN NS HUZFAG L M
8,500,000 *20H A~ 17,000
02 =24l 28,480 18,480 10,000
0332 % HAl 4,920
OEXNEANHESIEEAM 2 4,920
2 Bt 300& *1,00021 128 3,600
. s 2,2003 5024128 1,320
OA& EHl R Xl 23,560
OKLIS GIS A& (ArcGIS) X E =
300,000& »12& 3,600
OKLIS Z2tE & (Geodt) RAE 2
45,0003 123 540
OKLIS OIS 9N (0Z Xstudio) | X E==
45,0003 123 540
OF&d Dt ZHAAE A (Gse) RAE
25,0003 «12& 300
OEXNHEZHAAY JIsHE(BHXNE
=) 10,000, 000& 10,000
OEXNFHEZHAAY RANES
115,000& = 12& 1,380
OGISAZEYNAH RNE 600,000& »12& 7,200
403 MtXISHHE X201 E 380,407 414,800 A 34,393
02 SO 2SHHEAE R 2 E AL B 380,407 414,800 A 34,393
O IS0 et A== AS I 380,407
O32UHE HEYXNIFMNEIA(S2ALS0l) ALY
210,000,000 210,000
OGIsA SEE 2 HEAY
149,927,000& 149,927
OS=ZEXNEHEANAEH BLESAY SN2
204,800,000 = 10% 20,480
s NEsg 410 22 447,327 409,990 37,337
101 @124l 35,855 39,345 A 3,490
04 JI2ZtHZ22HEE = 35,855 39,345 A 3,490




A UAXH D
Iu: Ze EXRel ¥ HENABRHIR
& SFEE XNFE2e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXNH=ZAA X 18,185
OoJlzs 62,3603 x1H 167 10,415
Osg=+g 62,3603 x 1P 76 4,740
O= &l 5,0003 x 1 «167 835
On st 5,0003 x 18 167 835
OEs=E 960
. B X 40,0003 x1H 88 320
. EHIE 80,000 1 »8& 640
OFEFItHI 400,000& x 18«13 400
OXNEIZE SEAE ZAEHI 17,670
OoJlzs 60,2403 x1H 167 10,061
Osd=g 60,2403 x 1Y 76 4,579
O= &l 5,0003 x 18 +167 835
On st 5,0003 x 18 167 835
OPIE=Ea=s 960
. B X 40,0003 x1H 88 320
. EHIE 80,000& »1H +8& 640
OZFEFItHI 400,000 x 18«13 400
201 LBH2d| 222,795 183,545 39,250
01 At 2t 2l 203,429 178,345 25,084
OBt~ 199,829
OXNEBECHMAGEE 2L 1,000
. ZClllAH 2E 1,000& x1,000& 1,000
OXNHEMEEE Y 20,0003 1138 220
OEXNOsEeINEA 60 *35 +5,0000H 900
OZHEelgada 7Y 350,000& x45+23| 2,800
OXN&E=" Z20E Hiold 2
50,000& *60H 3,000
OXNEBEZ M Motat AHS 66,300
. ANES=EHZUE Moks 6,000& 3,600 21,600
EXNOCISXNZ2AN Hitz
600& x36,000& 21,600
, HAM XR(L0HE &Hetst
5,500& *4,000%H 22,000
NE2M2EAAE RRES
11,000,000& *10% 1,100
OXN&EIIEE &1 ¥ EAXZA 44,990
s NBEZE S22
94,0003 «100& *1.1 10,340
o NEE2E EXNT M2
15,000& *3,000& *1.1%0.7 34,650
OMHASXH HEAS 80,619
. SSHE(ED) e - s8+2
72,3803 x50 3,619
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SH: RIRT D
o ZFs EXNZE L HAXAFBHFIH
Sl BFE NNBL CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
S EEEE G
30,8002 *2, 500 77,000
ouxtg 3,600
OE=BIE-F-BIR-1v]-] 50,0008 *122 600
OOXE2=EI(A3) Y02
250,000 +12% 3,000
02 232l 19,366 5,200 14,166
O A& FHIR b 19,366
OBt 2250 200,000 *13] 200
ogess)l 400,0008 *23] 800
OXNE=ZIHI 1,200,000 *13] 1,200
ONEAL cofthamey 23 4,416
. R0IETI o U2 2F
56,0002 %1274 2 3| 2,016
CAESTHD AA DA BRHEE
300,0002! +82! 2,400
OSE ¥ FLALSTIH R+ 12,750
. DF SE(UAS) RIES
1,000, 00024 +77H 17| 7,000
. BUALETIY RS
25000024 *77H 2 17| 1,750
DF EHY S2 NG Y 22
1,000,000 *27| +23] 4,000
202 01t 2,800 2,100 700
01 =Ly o1 bl 2,800 2,100 700
© =201 bl 2,800, 0002 2,800
403 TR H S XHE 0l ™ 113,877 0 113,877
02 212 SOl H 3 K= X 9/ € AL 113,877 0 113,877
ONASXIH & & A 113,877
OKASTIHIIEE AZH HBBRIN S 45
591,800 *15% 8,877
ONGNISESSHYE X4
7,500,000 * 14X 7 105,000
405 TH&HH St 72,000 185,000 A 113,000
B EEEEET] 72,000 185,000 A113,000
OXN BUASEY U 7Y
27,000,000 *14! 27,000
OBUYT I B =H SMW PY
25,000,000 *14! 25,000
ONESEEE(FIAHOM) 7Y
20,000,000 *14! 20,000
X THEA A 719,620 1,109,328 389,708
2 43,000
2 676,620




SA: RIRKIE D
M ZHE EXN2C ¥ dAHXNZBEHEZEE
& SFEE XNFE2e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 719,620 1,107,328 A 387,708
= 43,000
s 676,620
01 At 22l 716,100 1,098,880 A 382,780
O et H| 714,420
Ox3= 450,000& =1,400m’ 630,000
OCZFEIMHE 26,400,000& 26,400
OXETHEAL S| 53,020,000 53,020
= 43,000
s 10,020
OEE g=5Z4a T+ HMA 25,0003 x2004 5,000
ozg=+¢ 1,680
OZHZERRE I &
70,0003 +7H #23] 980
ONEWEASANS 918 FL4a
70,0003 x5 #23| 700
02 =24l 3,520 8,448 24,928
ONMREE RERS 2,200 x400Y *4 3| 3,520
SREN 28 29 1,320 1,820 A 500
201 LBH2d| 1,320 1,820 A 500
01 At 2t 2l 1,320 1,820 A 500
OBt~ 620
OBl M AL Ol 500,000& 500
O8=+=9 M 60,0002 *2H 120
o=zg=+¢ 700
OZsEXNZEIAs ML
70,0003 x5H #23| 700
HESAXIY s34 &= 269,124 231,110 38,014
= 57,000
[ia 212,124
HEZAIXIOH 22l 269, 124 231,110 38,014
= 57,000
[ia 212,124
101 @124l 28,347 19,396 8,951
= 10,677
[ia 17,670
04 JIZHHNZ22XNSE+ 28,347 19,396 8,951
OMESAIXI It ZALA 17,670
OoJles 60,240 x1H » 167 10,061
Osg=+% 60,2403 x1H«76 4,579
O= &l 5,0003 x 18 167 835
Oun &t 5,0003 x 18 «167 835
ONEs=g 960




SH: RIRT D

gz Z¥e EX2el  dAXcd2dE 7S

el HES AKX 233L &2 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
. B X 40,0003 x 15«88 320
. EHIE 80,0003 »1H +83 640
OZFEFItHI 400,000 x 18 x13] 400
OMESAIXI It AR A 10,677
OJles 60,2403 x 18 x104 6,265
= 6,265
Osg=+¥ 60,2403 x1H 46 2,772
2 2,772
O= &l 5,0003 x 18 %104 520
= 520
Oul SH| 5,0003 x 1 %104 520
= 520
OPIE=E= 600
. B X 40,0003 1Y 58 200
=2 200
. EHIE 80,000& x1H+53 400
= 400
201 Le-2dH| 234,577 208,614 25,963
= 44,423
s 190, 154
01 At 2t 2l 232,577 206,614 25,963
O el 227,217
OMESAIXI 28 82
60,0003 x12J1 x53] 3,600
OMESAXIL M4#EEN L EXE MHA
Ol & 50,000 *30 A 1,500
OE2H A28 72¢ 2,520
. E2H 93 330,000& 45 1,320
. 22H 6l & 640,000 =14 640
. 226 88X 150,000& 2 & 300
. E2H JtE2X 130,000& 25 260
O3ANXOt H&EEH ol 7,700 *2,6000H 20,020
OMNESAKXIN S22 119,577
. MBI BESE 111,437
-181g J|&
40,0003 *142,3072 /68.33*1.1 91,637
= 42,423
e 49,214
-7814 JI&E
40,0003 *6, 000 *50%*30%*50%=*1. 1 19,800
. AAMEXI BS=+2 1,430
“MEXIOLEE = s2EX
40,000 *100E! #50%*30%*50%=*1. 1 330
-MEXIO 2ES AXIKN 22 EX
40,0003 * 100 *50%*50%=*1. 1 1,100
. OISAMHERI BE =2 6,710




SH: RIRT D

gz Z¥e EX2el  dAXcd2dE 7S

S HEBAIXICL S83H &5 (2 &HH)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-OIANEXNIN} BE & SLEX
40,000& *300E *50%*70%*50%+* 1. 1 2,310
~AMENI AES AKX 2 BX
40,0003 *400E *50%*50%* 1. 1 4,400
ONg=ga &8 48 80,000
L MBUAN AESQ 2442
2,500,000 x163l 40,000
. SEANEXNON 2E xS
2,000,000& *203] 40,000
osgag 3,360
ORSHUNHTAAS HMLe
70,000& *8H x6 3] 3,360
O3 &l 2,000
OME S AIXIIE ZAHN 2 =]
8,000 x5H x252 %23 2,000
= 2,000
02 533294l 2,000 2,000 0
O A& &Hl S X 2,000
OE2ZH KINEx 2,000,000 2,000
202 04d| 3,800 1,900 1,900
= 1,900
= 1,900
01 2L Y| 3,800 1,900 1,900
O 22 ol 1,900, 000& 1,900
O 2LH O Hl 20,000& x5 19 1,900
= 1,900
204 & 2 4~ A H| 2,400 1,200 1,200
03 SEYRAHI 2,400 1,200 1,200
ONREESRH 100,000& x2H 128 2,400
f2Ssar2e sEY 252 36,870 39,046 N2,176
EXOIE 2435 36,870 39,046 N2,176
101 2121 4| 17,670 19,396 N1,726
04 JIZtHI22XNSE S 17,670 19,396 N1,726
OFsA Hellalld 8xX 17,670
[OPIR==1 60,2403 x1H »167< 10,061
Osgxd 60,240& 1P x76L 4,579
O=&l 5,000& x 1 x167L 835
OuEH| 5,000& x1H x167 835
OIE=Y 960
. B X 40,000 1 »8& 320
. E=HIH 80,000 x1H «8& 640
OY ZE I 400,000& x1H *13] 400
201 et 9| 14,200 17,650 A 3,450




A UAXH D
M ZHE EXN2C ¥ dAHXNZBEHEZEE
ol REaBlo B 2 (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 14,200 17,650 A 3,450
OBt~ 14,200
OFsttHAHEMEE AUHE M
300& %10, 0000H 3,000
ORs&HAMD HAANF EX P2
300& *2,0000H 600
OSSAHHAD 2 AHAL o4y
300& *2,0000H 600
OEXHeiaior2ta AdAl iy
200& *6,0000H 1,200
OFSHSHY 43N HEAMY S MH
35,0002 x80AH 2,800
OSSHENY 28 MAl oIy
200& x5, 00004 1,000
OZ2Y s3I A NESM M
500, 000& 6K 3,000
O& T He H e 22| 2,000,000 =14 2,000
301 g2 d= 5,000 2,000 3,000
1MIIEBESS 5,000 2,000 3,000
OEXHeHAH A4S ILRIE MDZEAF
500,000& »2A 1,000
OZQSHAIYE <t A NELZ
500,000& »2A 1,000
ORSAat) sl e ANDINZ
3,000,000 3,000
HEFANE &8 665, 155 634,441 30,714
CRHIASYSEE 665, 155 634,441 30,714
101 @124l 17,670 19,949 A2,279
04 JI2ZtHZ22EE = 17,670 19,949 A2,279
OE2HEF=A AMEE 2HEA BEX 17,670
OJdles 60,240 x1H » 167 10,061
Osg=+% 60,2403 x1H+76 4,579
O=&l 5,0003 x 18 167 835
Oun &t 5,000& x 1 +167 835
ONEs=g 960
o B Xt 40,0003 x1H «88 320
== 80,0002 »1H +8& 640
OZEFOtHI 400,000 »1H *13] 400
201 et 87,520 100,320 A 12,800
01 At 22l 38,420 51,220 212,800
oY=t 37,160
OZ2HF4 EE2 HMH 15,000, 000& 15,000
OFMARE Y 2,160




SH: RIRT D

M BAHE EXZe € AKX BEHH RS
ol dEFANE &2 (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
., Y 3AIEL| A 40,000 «83| 320
. BHEAD EY 230,000 x4=E x23| 1,840
O&OlA OHHXIE M2 40,000& 500 20,000
o2ysg 1,260
OE2HFLAE Hasg
70,000 *4H *33] 840
OXYgAFS EFA&2H 70,000 *3H *23] 420
02 2=2=2494| 49,100 49,100 0
022322 % HA 9,100
OHSYHSEN EBAN SIRER2
2,200 x70024 1,540
o298 Z XM 3| 2,700 %2, 8004 7,560
O A& &4l S XYl 40,000
OEZ2Y A A= AI&2l 20,000,000& 20,000
ozzgHw 24 200,000 1004 20,000
202 044l 1,900 1,900 0
01 2L Y| 1,900 1,900 0
O 22 4 H] 1,900,000 1,900
207 SO0 £ 150,000 170,000 A 20,000
01 4| 150,000 0 150,000
O2F YEH B - 22lYye a1 g2d
150,000, 000& x 14! 150,000
307 S12t0| & 120,000 0 120,000
02 QI AAIE E X 120,000 0 120,000
OXelzsa 2F2 N AF 24
120,000, 000& x 14! 120,000
401 A& H L 20 bl 167,095 222,592 55,497
01 Al&H| 165,900 221,000 A 55,100
OEZ2XHZFAM A= S &K 165,900
OF E2¥E DMAX 300,000 *333H 99,900
OB XY8se T 2dI A
20,000,000 =14 20,000
OHd2dHsa AX 10,0002 6004 6,000
Oxgs AJd =2HI &%
200,000 =100 20,000
O=Z2IXNEHS &K 200, 000& = 1004 20,000
03 A& E2HH]| 1,195 1,592 N 397
OEZ2ZHZAM AId= & X
165,900,000 *0.72% 1,195
403 XX SHHS K20 & 98,970 69,680 29,290
02 2| 2SS A=2EAEAIS Y 98,970 69,680 29,290
CEHFA FEAAE 22 18,970




SH: RIRT D
M BAHE EXZe € AKX BEHH RS
ool HAFARE 2 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OGIS X S/WSXES 2,387,000 2,387
OKAIS 29X 10,585,000 10,585
OE2YFA)I2: gAY 5,998,000 5,998
OJIZHHR(BH) FHE BHAY
80,000,000 x 14! 80,000
405 XHAHFEIEHI 22,000 50,000 A 28,000
01 AL 2B F S| 22,000 50,000 A 28,000
OIZTHHZTMEAAEY ANYE(HEEI)
22,000,000 x1A! 22,000
HMSHAY (VAR A 349,300 336,448 12,852
Ol Y| (B X =) 199,332 192,276 7,056
olad A Y| (81 X&) 199,332 192,276 7,056
101 124 H| 199,332 192,276 7,056
01 2 199,332 192,276 7,056
OAZtAZ224E 11,0743 «50A 2tx30H « 12& 199,332
JI2Z 8 (S X =1 149,968 144,172 5,796
Jl23H (X&) 149,968 144,172 5,796
201 B9 ]| 55,468 50,632 4,836
01 AP 22| H| 55,468 50,632 4,836
oLt 2H| 16,780
Os¥us2d 16,780,000 16,780
O3 &l 8,000& *31H x 134l x12& 38,688
202 044 89,280 89,280 0
01 2Ll 89,280 89,280 0
O 2LH 4 bl 240,000 x31&H x12& 89,280
203 ¥ 2 =&H| 5,220 4,260 960
04 FEASHELIFFEH| 5,220 4,260 960
ORMNSIELEF=8H| 435,000& ~12€ 5,220
THEES(CIKAX =) 4,500 5,000 A500
SIS (XD 4,500 5,000 A 500
BEXE (2T =) 4,500 5,000 A 500
802 Bt =2 DI E} 4,500 5,000 A 500
03 =S 4,500 5,000 A 500
ongesd=zs s=2 4,500,000 4,500




